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La folia for electric violin and computer



To Ian

there will be earthquakes

La Folia for electric violin and computer

Contemplative J=70c.

Repeats 1-8
‘Repeat 1: Loop 1 record and playback‘
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‘Repeat 2: Loop 2 re¢ord and playback (ON: 1)‘
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[Repeat 3: Loop 3 reord and playback (ON: 1, 2)]
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[Repeat 4: Loop 4 redord and playback (ON: 1,2,3)]
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‘Repeat 5: Loop 5 re¢ord and playback (QN: 1,2,3.4)‘
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\Repeat 6: Loop 6 redord and playback with octavizer (or record and franspose) (ON: 1,2,3 ,4,5)\
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A \Repeat 7: Loop 7 redord and playback (with octavizer (or record and|transpose) OR use Lpop 6 and edit first note/bar to be continuously played. (ON: 1-6)\
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[Repeat 8: Loop 8 - rdcord only (ON: 1-7) .
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use Loop 8 and transpose it 2 octaves down, put in track "melody remake" and slow down to 1/2 speed, and then turn the loop ON (no new recording)

Repeats 9-11 (loops 9-10
Repeat 9: (ON: 1,2, 3,4,5,6,7)
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Repeats 12-14 (loop 11)

Repeat 12 (ON: 1, 6,7)

Turn on loops 4-5

Turn on sidechained gate on loop 6
Turn on stormgate (effect) on loop 7

49 Turn on vinyl distortion
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Repeat 13: (ON: 1,415,6,7)
Turn on loop 8
Transpose one instafce (a copy) of loop § to one fifth above and tugn on playback
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Repeat 14 (ON: 1,4,5,6, 6copy,7,8)
Turn on loop 2-3
Loop 11: record and playback (notes beloy) .
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Repeats 15- Ending
/ Repeat 15 (ON: 1,2,3.4,5,6,6copy,7.,8,11)
/ Turn on loop 9-10
Keep loops 1-11 on.
Play (only, no recording) and repeat ad lib through reverb . . -
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ENDING:
Turn off loops 10,9, 8, 7, 6, 5, 4, 3, 2 sequentially ad lib finish with loop 1 and last loop 11




